Autumn Test 6

Name ........................................................................ Class ................................. Date ...............................
2

1 | 0.1+ =1 2| 16=

O O
3 +~7=9 4 | 26 X100 =

o o
5 | 48= X 6 6 | 0°=

o o

3282

7 =8512+6 8 X 5

O O
9 %—%= 10| 5859 = X7

] o
1137137 12| 425X 10=

o o
13| 7+4= —4 14| 2 of40=

O O
15 }_5_;_: 16| 2x3=30—

o o
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Autumn Test 6 (continued)

17 | 1513690 (2 marks) 18 | 748261 — 9465 =
19 | 500 — =138 20 = 493.5 = 1000
21| 2418808 @marks) | | Q@ | 8003 — 2784 =
23| 5192 + =8 24| 76+ 3264+ 3758 =
297
25 3216208 (2 marks) 26 X 48 (2 marks)
[Total marks I30j
i : * with correct place value | 18 | 24
How well did you do?
Colour the numbers of the _ with zeros 19 | 22
questions you got correct. + or x by 10, 100 or 1000 4 112120
Long x and long + 17 121|125 26
Fractions 9 114115
Missing numbers 1 2131511011316 ]19]|23
+ 13 | 24
- 1 9 1516|1819 |22
X 314168 12]14]16]26
+ 21517 (10|14 |17]120]2123]25
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